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1. A1 () A EE 5,000 5,000 0
1.FAA8 S 5,000 5,000 0
1. 0o 4,500 4,500 0
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4.8 W%gE 335,840| 335,834 6
1. %353 9 176,921 176,915 6
1.4 353k 8- 176,921 176,915 6
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1.3 ARL%ED 4,000 4,000 0
1. 2A TG A g 4,000 4,000 0
1. 54 A Y G H-F31H] 400 400 0
2. 13579 3,600 3,600 0
3. 548 3,000 3,000 0
1.5M8529 3,000 3,000 0
1. 24T 3,000 3,000 0
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4. 07 %A 161,919 151,919 0
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2. 0% 83,924 83,924 0
2. 5959 52,495 52,495 0
1. 9ukE8n) 3,000 3,000 0
2. W59 49,495 49,495 0
3. AT AN AR 1,000 1,000 0
1. g uk8-1] 500 500 0
2. 05| 500 500 0
4 NE59 250 250 0
1. duk41) 250 250 0
5, &XR 99 8,000 8,000 0
1. duk4h) 500 500 0
2. 5L 7,500 7,500 0
5.1%8% %9 283,682 277,892 5,790
1.aFgF &9 133,848| 128,058 5,790
1. 5889 133,848 128,058 5,790
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FAH ] 22,596,0009) =
=yl =T - ) o 5]
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1.4 ¥kEgH 9,775 9,775 0

2. x99 4,660 4,660 0
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1. 04384 )4 115,771 115,771 0
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1. G981 12,000 12,000 0
2. 47185 8,000 8,000 0
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3.3 ¥y 2,235 2,125 110
1.3 g 919324 1,531 1,421 110
1.8 1899 93¢ 1,531 1,421 110
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